ER29FKE H29EFE®X F118%

$ﬁ 1:1000 IHE=

THER (£=F) L=5. 3m
_ ERELR 7Oy VBT A=13m2
& BET (752) A=Tm2
TYURITI (REE) A=4m2
T8 - FRHEOI (KBELXDS5) N=%
T8 - (RWUIT (FHEIkkIT) N=13X
THAEIR L=56m
Em a3 FHE
s$£HAH
wm R B EmES 1

X1 HERED HE:2R




TRH29FE

No. 0

No.0+3. 0

GERTDELE W

No.0+5. 3

GEERITDE W

H2 9mE:%

#1185

" W 1. 7Tm2
K & 1. 2m2
2 R 0.5m2
B X —
FEEL 1. 25m
RARA| 0.93m2
B H 2. 0m2
K & 1. 2m2
2 R 0.5m2
B x 0. 3m2
FEEL 1.58m
RARA| 0.88m2
0. 7m2
1.2m2
0.5m2
0. 1m2
0.64m
KA#A| 0.88m2

=
5h
)
%

14. 000

e
=
S
=3

r>
=
S
=3

=
S
=3

=
=
S
=3

ITHEH

FR29FE H29E% %118:-420%
HEMIIRSNEREIIIKERRBADTIE

B &

WETEE. SR

F£AH

B EmEEHS 2

%10

=
e
*3

:

(1. 046)

13.282 —

13.282

13.320 H(11. 330

13. 418 —{ 11. 442

13. 418 H

abRE | | 3k

11. 046

M 11.188 H

M 11.442 H
11. 595

H i it
kA

10.702 — 11.202

10. 830 — 11.330

10.928 — 11.428

i B | (MRS R

No.0-3.0 5 -8. 000

NeO — 0.000 — 3.000 —
Ne0+0.3 H 0.300  0.300

Ne0+3.0 — 3.000  2.700

No.0+5.0 4 5.000 H 2. 000
No.O+5.3 1 5.300 [ 0.300
No.0+8.0 5 8.000 1 3.000




ERR29FE H29EFE%X F118%

EF’EMSO fEET

@ (1. 250+ 1. 580) +2X (0. 300+2. 700)

5,300 =4, 245m2
' @ (1. 580+0. 640) = 2% (2. 000+0. 300)
2,100 EXI®IT L=4,6700 = 2, 553m2
200 000 2 700 200 &5 4.245+2.553=6. 798m2
D iy Ayoy—r7avoEI
s 2 2 @ 2 @ (2. 890+2. 780) +2X 2. 700="7. 654m2
ez » @ @ 2.780X2.000=5. 560m2
&5 7.654+5. 560=13. 214m2
Bfts A 1H 3| S d | o .
® i E @ = 3 S BMR7AOv 71
11. 442 ‘;‘_l; ; ; ; ‘;Nl; -a-L) 1ﬂ.t1.I
] A = A 1330 A =
S ‘\b 1168 11048 ® (2. 10040. 500) + 2% 3. 190=4. 147m2
s S g 4 Pl
N £ ki =N >
7 m = o
[ < MOET1 R S
< HhOILET 18
* = g_
10. 000 MrOLET28 10, 000
BE#ET L=4,700
TES ER29FE H29EH ®118-420%
sEANRANEERANKEERTS
EES RFE
£AR
m R EF EHEEs 3

%10 RSP HE:2R




ER29FEE H29EX %118%
‘ ITiEE
ZOY 28I .

aEﬁI\ MOLWET 5

\
| |
hOlET 1B hOlEITr2 B
- 300 300
1
no
i -
[{=]
[
]
Lad
(4, ]
o
b3 - 2
N I
=
(I"I_I
=Y WA-PXE S
859
868
BT
A9 )—4p (0.5744+0.868) +2X2.940Xx0.30=0.635m3 Ay )—=4p (0.5744+0.859) +2X2.850Xx0.30=0.612m3
B & (0.574+0.868) ~2X2.940%X2=14.239m2 B (0.574+0.859) +2X2.850%xX2=4.084m2
B P ({b#E) 3.290x0.300=0.987m2 B ({b#E) 3.190x0.300=0.957m2
B ih # 0.350%3.290=1.151m2 B it # 0.350X3.190=1.116m2
BHiET Xim T m m
1:20 1:20
100 T TH29FE H20EH ®118-420%
N 1o ZETIESNEGRTIKEEATS
\\ ‘ HES TihE
: N T =AH
| | ‘ \
S N . — , -
‘o B R Bl HEE S 4
‘100‘ 410 100‘ \
200
EERS WEEH B2




ER29FF H29EF%X F118%

T8 R (KEBEn>) Nesg | ‘
T8 -® T (H¥HKI) N Noo
BEEBIET N=1E .

// [ —N
TERHERESEERER .

B 8%

1,524X3,048%22)

BkIRE - X A=56mXx3. Om=168. 0m2

BEkIRRERY N=156m+1.524=236. 74
=S37H

BHBEREE t=37#x0.802t/#=29.67t

s 3 7
ﬁ"zzlzﬁ 1:1000 FUIPEK TR E B oo

/DKWL

A=1.996m2
N=1.996+ (1. 08X 1.10)=1. 68

=248

=358

TES ER29FE H29E% ®118-420%
ETNEANEEETNLSEATE

HES %=

s£AH

m R Eib HEES 5

HERS B m2H




ER29FE H29E%R F£420%

:F'ﬁ 1:1000 THEHE

ERER (G5R) L=7. 3

i ERES®T7O0Y oM A=17m2

| 2 MOLET1 B N= 1%
| | MrOLEIT2H N= 1&
TUMMTI A= 7m2

HET (75%) A= 1m2

TH - WO (WEHEKI) N= 1R

FR29FE H29E% %118:-420%

THE sB AN ESNEGEAIKSEATE
EmEa FEE

£AH

@ R ER HEES 6

X1 HERED HE:2R




FR20%%E H29EK $4205

*aﬁ1imrﬁﬁiﬁiz 1:100
No.0 % %

1. 4m2

1.2m2

0. 4m2

0.17m

0.89m2

No.0+3.6 ] ®

2.5m2

1.2m2

0. 4m2

0.13m

0.89m2

1. 0m2

1.2m2

0. 4m2

0.10m

0.72m2

=
B3
=)

=~
=
1=
£=9

=
=
S
=3

r>
=
S
=3

=
S
=3

=
=
S
=3

E

ITHEH

FR29FE H29E% %118-420%
EEMIRSNEGEIIIKER@BBTIE

HES

R, REmnE

F£AH

BF EEE S 7

%10

ii.l o~ =
173 gw .QM% 2
f
' [T I ™
< =< o -
i o« o o 22
ﬂﬁ > < D
[ o il i o
= - e ——
[T T
b 2 P2 w0 = - -
& ht = 2 ] g 2
(L] = S = = = -
[T T
E- 33 3 w0 S
R - «© @
Is = s s
[T T
B == p=4 oo o -
E = S == = =
S 2 S8 g 8
£ i o o . -~
&
[T T
) = L T T T T
s S S =4 ) s s
m g gg 2 ss s =
. ‘Ts e L ~o~ o -~
E —
| 1 I 1 : |
> S . . > >
i g = o e < =
I & b x x i a
2 S = oo S -
& = =} S S o =] &
= £ I 2 33 3 :




TRH29FE

EF’EMSO

H2 9mE:%

#4205

EHER 7, 300
2,020 3, 600 3,700 1,820
(=] o
e i
< < <
= = =
@
o (=)
~ «@ =
-~ ‘; =4
o . ‘ ",
P N 1
b=
= 2 @ "
e QS o M
- n <)
E >
=)
o a
g '<g 1]
<o = MONET2®R
= - .
o ph
MOET 187 S > >
S =
500 (300 3, 300 = 3, 400 300| 500

XTI - BRT

6, 700

EET

@ (0.170+0.130) +2X 3. 600=0. 540m2
@ (0.130+0.100) +2X3.700=0. 425m2

a8 0.540+0.425=0.965m2

RRER2E70Y 7T

@ (2.690+2. 560) +2X%3.300=28. 662m2
@ (2.560+2. 280) +2X 3. 400=28. 228m2

B 8.662+8.228=16.890m2

AT

® (2.020+0. 500) +2X3.050=23. 843m2
® (1. 820+0. 500) +2X 2. 640=23. 062m2

B 3.843+3.062=6.905m2

FR29FE H29E% %118:-420%

TH=E s ESEEEAKEEETE
EEE ERE

E£AH

®m R Ex EEES

%10 HERED E:2R




TRH29FE

REF2B7OVY 78I .

H2 9mE:%

D
L=
©
~
14
<
s ~
g o
-~
l
o
[V ]
-
1
=
o
o
L
1
=
BT
HET .
100 ,
18-5-40 <H7 /
/ 7/
/
S " /
- g
[==]
= |
Loo 420 LOJ
18-8-40

#4205

RER2EB7Ov Y

ITEH

'J‘D.“:I 1:50

MOwkET 28

= 570 300
==

MOlET 18

H=2, 830
H=2, 450

20
530
/
' / 18-8-25

(0.570+0.820) +2%x2.450%0.30=0.510m3
(0.570+0.820) +2X 2. 450X 2=13. 405m2

= Ul
B 2
B # (fb#) 2.640X0.300=0.792m2

aryo2Y—k (0.570+0.850) +2x2.830x0.30=0.602m3
- (0.570+0.850) +2x2.830x2=4.018m2
B ¢ (fb#) 3.050%0.300=0.915m2

B it # 0.350% 3. 050=1. 067m2 B it # 0.350X 2. 640=0. 924m2
TEZ FR29FE H29EK %118-420%
HEMIIRBINEGEMIKEERITE
= B TiEE
F£AH
H R Eipg EmEES 9
EHRE B @23




FRE2O%E H29E%K

ﬁ$$ﬁ 1:1000

4205

18 -FBREYT (KX 5) . FEMBLEIT. TERAEBICOLTIE.
4RETE B85 HRANRFINEETINKEEAIEEBELTNS
%, AREIICELYVERT 3RS, FEHIETRHELENC E

T3,

T=EZ FR29FE H29E%K %118-420%
HEMIRSINERFEAIIKEEREIS
B & kT
F£AH
W R Eib g EmE#ES 10
%L1 I E:2R




